IlepeyeHL OCHOBHBIX JIETAJICH M V3JI0B

YTBepxjaro
CTOMKH I MAINVH NIN(OBAAJIBbHBIX Hauansauk OTO
yrioBbix C-125 Kossos IT.A.
«__» 20
1 2 3 4 Ne |HammeHnoBanue Koa.
1 Kommagoxk 1
2 PykosTka 1
3 Kponmrreitn kperenus MIITY |1
4 VYnop M10x70 1
5 PesunoBas npokiaaka ynopa 2
6 Bontr M10x50 2
7 laiika M8 8
8 Ochw 1
9 IIpyxuna 1
10 | bont M6x16 2
11 |bont M8x30 2
12 |KpoHmTeliH OCHOBaHUS 1
13 |Illaii6a 8 1
14 | Ymop 1
15 |Cranuna 1
16 |I'yOxa nprmxuma 1
17 |Taiika M6 1
18 |Hckporacurenn 1
19 | DOxcueHTpHuK 1
20 | 3aKUMHOHN KITIOY 1
21 |Taiika M8 1
22 | boar M8x30 2
23 |bont M6x8 1
24 | bontr M8x20 2
25 |T'atika M10 4
26 |bont M8x45 2
27 | Ymop M10x50 1
CornacoBaHo
17 16 15 14 WrxeHep Iletpos B.I
Wcnonuurens:

NuxeHep CamconoB [1.1.



